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Q3'21 
SME Size 

Micro (1-10) Small (10-50) 

Jobs -26% -30% 

Banking -27% -33% 

Economy -25% -33% 

Costs to business -26% -33% 

Overall Economic Performance -27% -33% 
 

Q3'21 
Sector 

Manufacturing Services Wholesale * 

Jobs -27% -23% 27% 

Banking -35% -23% 27% 

Economy -31% -23% 27% 

Costs to business -31% -23% 27% 

Overall Economic Performance -31% -28% 27% 
 

 

NOTE: 

The satisfaction ratings in this report are made up from five specific responses to a question on the Government’s 

performance in dealing with Jobs, Banking, Business Costs the Economy and Overall performance. The results are based on 

simple balances of the differences between positive and negative responses, for example the negative balance for Jobs 

means that a greater percentage of respondents were unsatisfied with the Government’s performance on the Jobs issue. 
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For further information, please contact: 

Sheema Lughmani 

Press, Policy and Research Officer 

T: 01 6622755 

E: sheema@isme.ie                                     

 

Note to Editors: 

 

This survey was conducted in the first 2 weeks of October, covering the third quarter of 2021. There were 143 SME owner 
manager respondents. The results presented in this report are calculated as the aggregate response to a survey question, 
i.e., the sum of all positive and negative responses. For example, a survey question may ask: “Have you increased or 
reduced investment in your company in the last 12 months?”. The breakdown of responses is as follows: 51% “Increased”, 
39% “Remain Same” and 13% “Decreased”. The aggregate response to this question is calculated as the sum of the positive 
and negative sentiment expressed in the question: 51% - 13% = 38%. The neutral response, “Remain Same” is not 
considered. 
 
* Summary data based on a very small sample size. 


